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178. xInx -y’ —y=x3(3In x — 1).

g s

EcuacionOriginal := x-log(x) -diff (y(x), X) —y(x) =x--3-(3-log(x) —1)

EcuacionOriginal := X In(X) (% y(x)j —y(x) =X (31In(x) —1) 1)
Ecuacion = expand( Ihs (EcuacionOriginal) ) =expand( rhs(EcuacionOriginal) )
X-log(X) X-log(X)
e Y e X
Ecuacion : X y(X) X In(X) 3 X n(x) )
NS SN :
p = X-log(x) ; q == rhs(Ecuacion)
1
P X In(X)
X
T ®)
IntP := int(p, X)
IntP := -In(In(x)) )
IntNegP = -int(p, X)
INtNegP :=In(In(X)) )
ExpIntP := exp(IntP)
1
ExpintP := -~ - (6)
ExplIntNegP := exp(IntNegP)
ExpIntNegP := In(x) @)
SolPart := ExpIntNegP-int(ExpIntP-q, x)
SolPart := x’ ®)
SolGral := y(x) = C,-ExpIntNegP + SolPart
SolGral :=y(x) =C, In(x) +x 9

Comprobacion := dsolve(EcuacionOriginal)
Comprobacion :=y(x) =x° + In(x) _C1 (10)
Comprobacion, := simplify(eval(subs(y(x) =rhs(SolGral), Ihs(EcuacionQOriginal)
— rhs(EcuacionOriginal) =0)))
Comprobacion, :=0=0 (11)
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Ecuacion := diff (x(y),y) —sin(y)-x(y) =2-sin(2y)

Ecuacion = diy X(y) —sin(y) x(y) =2 sin(2y)

p :=-sin(y); q := rhs(Ecuacion)

p = -sin(y)

g:=2sin(2y)
IntP == int(p, y)

IntP := cos(y)

IntNegP :=-int(p, y)
INtNegP := -cos(Y)

ExplIntP := exp(IntP)
ExpIntP := >V
ExplIntNegP := exp(IntNegP)
ExplntNegP := ¢ >

SolPart := x(y) =expand(ExpIntNegP-int(ExpIntP-q, y) )
SolPart:=x(y) = -4 cos(y) +4

SolucionGeneral := x(y) =C,-ExpIntNegP + rhs(SolPart)
SolucionGeneral :=x(y) =C, e Y — 4 cos(y) + 4

Comprobacion := dsolve(Ecuacion)
Comprobacion :=x(y) = -4 cos(y) +4 +¢ ¥ _C1
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